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QUESTION 1

An administrator is deploying a new mission critical database. The database requirements are 12 vCPUs and 24GB of
RAM. 

What can the administrator enable for the lowest possible downtime? 

A. DRS 

B. vSphere replication 

C. fault tolerance 

D. proactive HA 

Correct Answer: D 

 

QUESTION 2

A vSphere administrator needs to migrate VMs in the same vCenter from New York to California due to 

impending severe weather. 

Which migration should the administrator perform without causing VM downtime? 

A. Long Distance vMotion 

B. Storage vMotion 

C. Cold migration 

D. Cross vCenter vMotion 

Correct Answer: A 

 

QUESTION 3

Which two infrastructure services are provided by the Platform Services Controller? (Choose two.) 

A. Auto Deploy 

B. License Service 

C. vCenter Single Sign-On 

D. vSphere Syslog Collector 

E. vSphere Web Client 

Correct Answer: BC 
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Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.psc.doc/GUID-
FE4E0496A14C-4331-A7D6-1200F7C068A5.html 

 

QUESTION 4

A vSphere administrator is working in a high security environment. The administrator wants to ensure unencrypted VMs
can be migrated securely. 

What should the vSphere administrator use to meet this requirement? 

A. vTPM 

B. UEFI Secure Boot 

C. KMS server 

D. encrypted vSphere vMotion 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.security.doc/GUID6865D84A-
C286-49C4-A4D4-D62145150242.html 

 

QUESTION 5

A vSphere administrator uses a Dedicated Failover Hosts Admission Control Policy in a cluster. An ESXi 

host fails and vSphere HA attempts to restart the VMs onto the dedicated failover hosts. The hosts have 

insufficient resources. 

What happens to the VMs? 

A. vSphere HA restarts VMs in another cluster. 

B. vSphere HA suspends the VMs until a host is available. 

C. vSphere HA powers down the VMs. 

D. vSphere HA attempts to restart the VMs on other hosts in the cluster. 

Correct Answer: D 

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=% 2Fcom.vmware.vsphere.avail.doc_50%2FGUID-
C4F5F9EE-4235-4151-BEBE-FCB2A752407B.html 

 

QUESTION 6

Which vSphere Update Manager baseline type is used for scanning and remediating objects third-party device drivers? 

A. upgrade 
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B. extension 

C. patch 

D. predefined 

Correct Answer: B 

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.update_manager.doc%2FGUID-E5180A59-AFF9-45AF-B3B7F192592ACE28.html 

 

QUESTION 7

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSphere
Client. 

What would cause this to happen? 

A. vSphere DRS is disabled 

B. vSphere DRS is set to manual 

C. Admission control is not enabled 

D. Affinity rules are only managed using the Host Client 

Correct Answer: A 

 

QUESTION 8

What would cause an administrator to encounter a remote device backing error while running vMotion? 

A. VM running on too many snapshots 

B. Host CD-ROM attached to VM 

C. Virtual mode RDM attached to VM 

D. Host USB device attached to VM 

Correct Answer: B 

Reference: https://kb.vmware.com/s/article/1003780?
other.KM_Utility.getArticleMetadata=2andCoveoV2.ContentHandler.getLoader=1andother.KM_Utility.getUser= 1andoth
er.KM_Utility.getAllTranslatedLanguages=2andother.KM_Utility.getContentdocument=1andui-commruntime-
components-aura- components-siteforceqb.Quarterback.validateRoute=1andother.KM_Utility.getViewCount=1andr=2an
dother.KM_Utility.getKnowDetails =1andui-communities-components-aura-components-forceCommunityseoAssistant.S
eoAssistant.getSeoData=1andCoveoV2.EndpointHandler.getEndpoint=1andother.KM_Utility.get
Url=1andother.KM_Utility.getPRNumberLinks=1andother.KM_Utility.getCaseLike=1 

 

QUESTION 9
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An administrator runs a vSphere cluster containing database VMs with extremely heavy disk I/O. Database VMs are
placed on a costly all-flash array. The workloads are not memory intensive. 

How can the administrator ensure the most cost-effective utilization of the all-flash storage array? 

A. Enable Storage I/O Control on the flash datastores. 

B. Install VMware Tools on the database VMs to ensure the hypervisor can receive I/O metrics. 

C. Use a VM-to-Host affinity rule to ensure database VMs are prioritized. 

D. Edit the cluster settings to place the virtual machine swap file on a different storage tier. 

Correct Answer: D 

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.resmgmt.doc
%2FGUID-2D749168-6BEE-4218-B956-88980CE6AA9E.html 

 

QUESTION 10

Which DCUI option determines the time frame an administrator has to log in to the ESXI Shell after enabling the
service? 

A. Idle Timeout 

B. Availability Timeout 

C. Enable SSH 

D. Enable ESXi Shell 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-vSphere/5.5/com.vmware.vsphere.security.doc/GUID6E1ECA4D-
B617-4D42-B40B-71E4C83DEEFB.html#GUID-6E1ECA4D-B617-4D42-B40B71E4C83DEEFB 

 

QUESTION 11

A customer suspects someone or something is changing the MAC address of a virtual machine. Which security policy
should the customer modify to obtain more information? 

A. MAC Address Change 

B. Promiscuous Mode 

C. Discovery Protocol 

D. Forged Transmits 

Correct Answer: A 
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QUESTION 12

Which configuration could prevent an administrator from performing a vSphere vMotion migration? 

A. CPU affinity is enabled on the VM. 

B. The ESXi hosts use IPv6 addresses. 

C. The VM has an RDM in virtual compatibility mode. 

D. 1GbE adapters are in use for the vMotion network. 

Correct Answer: A 

 

QUESTION 13

A vSphere Administrator wants to convert a vCenter Server instance with an external Platform Services 

Controller to an embedded Platform Services Controller instance. 

Which tool should be used to accomplish this? 

A. VMware vCenter Converter 

B. CloudClient Utility 

C. Convergence Utility 

D. Cmsso-util Utility 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vcenter.install.doc/GUIDA4E3C370-5F20-4A8D-9E66-FB45DD5CDD02.html 

 

QUESTION 14

When enabled, what ensures only signed drivers can load into a virtual machine? 

A. Secure Boot 

B. lockdown mode 

C. micro-segmentation 

D. TPM 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-
vms.doc/GUID-898217D4-689D-4EB5-866C-888353FE241C.html 
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QUESTION 15

An administrator runs vSphere Infrastructure in the following configuration: 

1. 

Single vCenter 

2. 

Multiple vCenters 

3. 

Multiple clusters under each data center, all with identical hardware The administrator wants to use host profiles to
manage the hosts. Where should the administrator attach the host profile? 

A. vCenter object 

B. each cluster 

C. each data center 

D. each folder 

Correct Answer: B 
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